Efficiency vs hit

iR
- AN WV

70 80
TP hits
—=— DQM_mKkFit_TTbarPU50_extractedGeoms_rescaleError100
—— DQM_mKkFit_TTharPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
I Efficienc|] —— DQM_mkFit_TTharPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

00.05
2.045
?o 04
g) 035
£003
0.025
0.02
0.015,

L A L LA L) LR LLLES LA LR L) L

-4

20 25
TP layers

0.0
[
®.018]
EXH
o

0 1 2 3 4 5 6 7 8
TP pixel layers

Efficiency vs 3D layer

00.05
9]
®.045
S0.04
4
.035
(5]
©0.03
L
$.025
0.02

0.015

TTYT
1
T

T

0'”() 2 4 6 8 10 12 14 16 18 20
TP 3D layers



	Contents
	Page 1


